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Chapter 8 Optional MC Re,view___'l
AP Statistics

1. What is the critical value z* for a 92% confidence interval?

a. 141 | /\ {'\(NND/W\(M&Q:.O%M""O’ U’"‘B
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e.  2.576

2. What is the critical value t* that satisfies the condition that the t distribution with 8 degrees of freedom has a
probability 0.10 to the right of t*?

a 090 df=8  wNT(ovea= -\, &f=8)

b. 1.282

© 1397 B . t* =129
d. 1.415 . 10 210 .,

e. 1.860 % £

3. The critical value used to construct a confidence interval for a proportion depends upon

The confidence level being used and the size of the sample.

The size of the sample and the sample proportion.

The confidence level, the size of the sample, and the standard deviation of the population.
d. Only on the sample size.

Only on the confidence level.
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4. The college newspaper of a large Midwestern university periodically conductsa survey of students on campus to
determme the attitude on campus concerning issues of interest.  Students are interviewed by a reporter
“roaming” the campus selecting students to intervie On a particular day, the reporter interviews five
students and asks them if they feel there is adequate student parking on campus. Four of the students say,

no.”  Which of the following conditions for inference ‘about a proportion using a confidence interval are
violated in this example?

| The data are an SRS from the population of interest. ~ \ry O\ gt
Il.  The population is at least ten times as large as the sample. Ve

ll. np =10 and n(1—p) =210 -y gotcs

a. lonly ‘
Sl
b. lionly 3l LL?-(ID
c. lilonly
land Il

e. All three conditions are violated

5. Which of the following confidence intervals has the largest critical value?

a. A95%zinterval 1.k T-AIet ot vnore Gueon m\ el
A 95% t-interval with 1 degree of freedom 12,77} %U:( nowower 68 g £ o
€. A 95% t-interval with 10 degrees of freedom 0.2

. A90% t-interval with 1 degree of freedom  (,,2 2
B A90% t-interval with 10 degrees of freedom 1.9



6. A marketing company discovered the following problems with a recent poll:
l Some people refused to answer guestions
. People without telephones could not be in the sample

IH. Some people never answered the phones in several calls

Which of these sources is included in the £2% margin of error announced for the poll?

a. Only source ! | E{Mﬁdbtl{ [

b. Only source |l * OV}\% JCU{VIP V\Cj w
c. Only source Il . &(CO&X\‘H@W

d,

All three sources of error.
None of these sources of error.

7. In preparation for constructing confidence interval for a population mean, it's important to plot the distribution
of sample data. Below are stem plots describing samples from three different populations. For which of the
three samples would it be safe to construct a t-interval?

a. Sample X only Sample X Sample Y Sample Z
b. Sample Y only : n=20 n=19 o=l
@ Sample Z only
02
d. Sample Xand Z 1 {1} g i %
e. None of the plots. 2 211 51356
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Use for Questions #8-10: A 95% confidence interval for p, the proportion of all shoppers at a large grocery store who
purchase cookies, was found to be (0.236, 0.282).
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8. The point estimate and margin of error for this interval are: 2

‘a. Point estimate =0.259; Margin of error = 0.046
@ Point estimate = 0.259; Margin of error = 0.023 28—, 2597 ,023
.~ Point estimate unknown; Margin of error = 0.023 :
_ Point estimate = 0.236; Margin of error = 0.282
, Point estimate =0.236; Margin of error = 0.046

9. Which of the following is a correct statement?

About 95% of the shoppers have between a 023.6% and a 28.2% chance of purchasing cookies.
There is a 95% probability that the sample proportion lies between 0,236 and 0.282.

If a second sample was taken, there is a 95% chance that its confidence interval would contain 0.25.
This confidence interval indicates that more than 25% of shoppers buy cookies.

a.
b
c.
d.
We are reasonably certain the true proportion of shoppers who purchase cookies is between 24% and
28%.



10. Which of the following would be true about a 98% confidence interval constructed using the same data?

The interval would be wider, because the critical value z* would be larger.
b. The interval would be narrower, because the critical z* would be smaller.
¢. The interval would be wider, because the standard error would be larger.
d. The interval would be narrower, because the standard error would be smaller.
e

The interval would be about the same width, because the standard error would be smaller, but the
critical z* would be larger.

11. A random sample of 900 individuals has been selected from a large population. It was found that 180 are

regular users of vitamins. Thus, the proportion of the regular users of vitamins in the population is estimated to
be 0.20. The standard error of this estimate is approximately

a. 0.0002 = Yoo (2 (162D ..
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0.0267
d. 0.1600 190 _ 4
e. 0.4000 qo0  °

12. A survey was conducted by calling land-line telephones, and those conducting the survey are concerned about
the possibility of undercoverage, since some people do not own a phone or own only a cell phone. Which of
the following is the best way for them to correct for this source of bias?

Use a lower confidence level, such as 80%.
Use a higher confidence level, such as 99%.
Take a larges sample. .

d. Use a t-interval instead of a z-interval.

Throw this sample out and start over again with a better sampling method.
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13. Which of the following is the closest to the sample size you would need to estimate p with a margin of error of
0.05 with 95% confidence? Use 0.5 as an approximation of p.
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e.
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14. A 98% confidence interval for the mean ,u of a population is computed from a random sample and found to be
7 £5. We may conclude that
There is a 98% probability that u is between 2 and 12.
N, 7 is the sample proportion.
5 is the critical value.
7 is the sample mean.
e. All of the above are true.



15. You want to estimate the true proportion of students at FZE who take at least one AP class. You take an SRS of
40 students at your school and find that 10 of the students take at least one AP class. Construct a 90%
confidence interval for the true proportion of students at FZE who take at least one AP class.
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16. You want to estimate the true mean height of ali students at FZE. You take an SRS of 70 students and get an
average height of 67.3 in. with a standard deviation of 4.2 inches. Construct a 96% confidence interval for the
true mean height of all students at FZE.
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